Mame

Unit 1 Test Review

Exponents
se exponent

repeated multiplication;

multiply the base number by

itself the number of time of the
nt

Wirite & as products and evaluate it.
BxBx8 =512

Wirite 7x TxTx7 as an exponent.
74

3'=481
3x3=9, 9x3=81,s50n=213

Order of Operations

P - Parenthesis
E - Exponents

M - Multiply .
D - Divide > left to right

A - Add .
5. Subtra-:;t‘:'-" left to right

Evaluate: 3:13;: +4) = (10 + 17) + 3°

4 =J=0
3a0} 3

39 ~73

36

Students were told to evaluate the expression
3(3-1)°. Logan got 36. Hallie got12. Whols
correct? Why?

Hailie is right because u'd do the
parenthasis firsr; 3-1=2; the
exponent next: 22=4; and
multiplication last: 3x4 = 12.

Commutative

3x2 = 2x3 +65=6+5
Asoctv®  (345)+6=3+(5+6)
Identity [+, -} 6+0=8 E-0=5§
Identity (x.2) Ex1=5 E+1=6
Zero 21x0=0
Distributive Demaonstrate Property

3(5+6)=(3x5)+3x6)

Simplify 3 x 27 using the distributive property.

3(27)
3(20 + 7)
(3%20) +
60 + 21
81

(3xT)




Waords that mean add

Wards that maan subtract

add SUMm subtract difference
plus minus
maore less
increase decrease
Words that mean multiply Words that mean divide
I11U||.'i|f.‘.|-|"l,|' divide
pruduct groups
Per guotient
times break apart

Write the expression: the product of a number and 3
3n

Olivia started with an unknown amount of M&Ms. Her mother gave her 10 more. She then shared 3
with Alyssa and 2 with leffrey. Write an expression that shows how many M&Ms she had left at the
end.

M+10-3-2

Combining Like Terms
Gnrln ll:nlrﬁng ke lerms & like pulling similar

camdias inlo piles. Remembar we had 3 different types:

Ja‘-a* + 4a+3a+ 4-3

With a variable and an exponent; 412, Tx?, -3x2
With just g variable: 5x_ 9x, -2%, x

Just numbsars: 3, -6, &, 2 Paf +Ta+1
flzo remamber differeni variables are different tarms.

Ba would not be like Sk

Manomial Example

a sel of numbers and variables being Gh?
multiplied togethar

Polymomial Example

a group of monomials baing added together 2al+Ta+1

Varlable a letter that represents an unknown number

Coefficent Example

the numbsar in front of a vaniabla. i there |5 no numbar
in frant of the varable, the cosffickent |s 1.

®2®+1

Ter™ ane of the manomials within a polynomial

Like ti



Circle the terms
Underline the coefficients _3Ef +
Sguare the variables

Evaluate this expression if x=3 and y=2 303+ 2(2(3F - 402
e H - ) |29 &
ADC-H) 20 {1Ei| - 8
2010
9+ 20 = 29

Using complete sentences, explain the order of operations you used in the above expression

You started by doing the exponent x*. You then multiply and subtract what's

in the parenthesis. You then haveto multiply what was in the parenthesis by 2

and multiply the 3x. Finally you can add that together.

Equivalent Expressions Write three aquivalent expression to
G+ 11

Expressions can be written in
different ways and still mean the
same thing. Like 20 + 7 is equal
to 27. This will involve combining

and seperating like terms. L 943y +6+5

L 3x+3x+11

2 Bx+5+6

My student studied for the test for at least 30 minutes.
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